=F 3 TR
TEHESEE (FH—1 M)

M2 ER AR RERET - TR THEE 1 (2014FR— M FEAABRZELL ) DE1HFE FIEERFEHRBOD
MEXE) 3.2 7Uh—HRILMNI&SMEXFEEFDICECTRET 5,

1. HE= —fREARIV T T Ak
2. &= ERA-RP15B(-BS--BSG)
3. HaREET
(HOHB/BEE M M= 82 kg
QBEE W W=M x 10/1000= 0.82 kN
(2)7Uh—K Ik
OHRAH n n= 4 PN
@k IWME : d (FEFR) M 8
Q—AH =Y DEBTEFE (FFEICLIHEIE) A=| 05024 |cm?
O BRELBEEZIBEDSIRYEZTERBIOTUI—K WMEARE: nt
nt= 2 N
BFEFELVEFZEDEFTOESS hG= 35.1 cm
(4)REFT B A RMDSH =R WFANY = 38.7 cm

(B)RE T B A MM DAT=K VLA DR EDFE TOKTERRE
IG=[__ 190  Jem (G=1/2)

4. RETETE
(1ERETHAKEEE KH KH= 15 95,
(2)E&ETRKFEMEN FH FH=KHXW= 1.23 kN
()ERETHMMEMESN FV FV=1/2xFH= 0.62 kN

(D) TIh-KWDIARE=Y D514k Rb
Rb={FH-hG—(W—FV)-IG} “{I-nt}=[___ 05 |kN
(B)TUh—K MDIRBF-VIZERATHEAMAN :Q

Q=FH/n=[__ 031 kN
(8)TUuh—-K WMZE T B HE

D5l-RYHE o 0 =Rb/A=]| 1.01 |kN/cm?
o=[__1o1 ]| <f=[__176 _ J«N/cm’
QEBAMIGHE © T=Q /A= 061 |kN/cm?

r=] 061 | <fs=[ 101 |kN/cm’

@5Io5RY E B AMERIBFIZZITSI5E
fts=14ft—16 T =| 23.7 |kN/om?

o=[ 101 ] <fs=[ 237 Jin/om’
(7)1 SR TR ET - To LIRS | (20144FHi— IRBAELE A B AR E > 5—) DR 1LY

AFUh-FMETE = FEIREI, JARRUAYN K VMTE |
@avy)-rEE= mm = 0.15 |m
QRN DIEHAHRS
L=[__ 102 |mm =[_0102 |m
@FASIERERE Ta= 4508 kN

Ta=[ 4508 JWN>Rb=[ 05 JkN
BLEDFEEY . T FINE T ABREEELTOS,

GE)1. REDELICEWNT, TUh-K WOEEEATEA TEDNRIYBELGWRICEEEE
fEAL TR,
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